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Turnover

SECTION A:
(40 MARKS)


Answer ALL the questions in this section in the spaces provided.
1.
(a)
In an experiment to investigate an aspect of digestion, two test-tubes A and B were 

set up as shown in the diagram below.

[image: image1.wmf] 

 

 


The test tubes were left in the water bath maintained at 37ºC for 30 minutes.  

The content of each test tube was then tested for starch using iodine solution.

(i)
What is the aim of the experiment?





(1 mark)


_____________________________________________________________________

____________________________________________________________________


_____________________________________________________________________


_____________________________________________________________________

(ii)
State the expected results in test tube A and B.



(2 marks)


_____________________________________________________________________

(iii)
Account for the results you have given in test tube A and B above.

(2 marks)


_____________________________________________________________________

(iv)
Why was the set-up left at 37ºC.





(1 mark)


_____________________________________________________________________


_____________________________________________________________________


_____________________________________________________________________


_____________________________________________________________________
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(b)
How are the pneumatophores adapted to their function?



(2 marks)




___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

2.
(a)
What is metamorphosis?







(1 mark)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(b)
State two advantage of metamorphosis to the life of insects.



(2 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

(c) With reference to insects, distinguish between the terms incomplete and complete

metamorphosis.  Give an example in each case.




(4 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(d)
Name the hormone that controls metamorphosis in insects.



(1 mark)

___________________________________________________________________________
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3.
In humans, the disease phenylketonuric is inherited through a recessive gene.  A phenotypically normal couple produced one normal child and one phenylketonuric child.

(a)
Using the symbols P for the normal gene and P for the phenylketonuric gene, 

write down the parental genotypes.  Give your reason. 



(2 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(b)
Work out the possible genotypes of the normal child.



(5 marks)


(c)
What is the probability that their next child will be phenotypically normal?

(1 mark)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

4.
The diagram below shows the exchange site between circulatory system and body cells.

[image: image2.png]
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(a)
State two adaptations of the capillaries.





(2 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(b)
(i)
Name the blood cells labeled B.





(1 mark)

_____________________________________________________________________



(ii)
State the gas that diffuse from B to the tissue cells.



(1 mark)

_____________________________________________________________________


(c)
State two functions of the part labeled A.





(2 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

(d) Name the blood vessel with the highest concentration of

(i)
Oxygen. _________________________________________________
(1 mark)

(ii)
Urea. ____________________________________________________
(1 mark)

5.
The graph below show changes in the internal body temperature and skin temperature of a person after taking ice in a room where the temperature was maintained at 40ºC.

[image: image3.png]
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(a)
Account for the decreases in blood temperature immediately after taking ice.
(2 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(b)
What changes occurred in the skin, which resulted in a rise in temperature.

(4 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(c)
Explain why adult elephants flap their ears twice as much as their calves in order to cool their 

bodies when it is hot.








(2 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


SECTION B: (40 MARKS)

Answer question 6 (compulsory) and either question 7 or 8 in the spaces provided 
after question 8.
6.
In an experiment, three healthy rats were fed on equal amounts of carbohydrates.  After one hour, 

the glucose concentration in the blood was measured at 30 minutes intervals for three hours. 

The results were as shown in the table below.

	Rate 
	Glucose concentration


	
	Initial 
	30min
	60min
	90min
	120min
	150min
	180min

	K
	1.59
	1.52
	1.46
	1.35
	1.31
	1.20
	1.12

	L
	1.50
	1.43
	1.38
	1.33
	1.29
	1.21
	1.10

	M
	1.56
	1.44
	1.36
	1.30
	1.20
	1.09
	1.00

	Mean
	1.55
	1.46
	1.40
	1.33
	1.27
	1.17
	1.07


(a)
On a grid plot a graph of the mean glucose concentration against the time.

(6 marks)
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(b)
Calculate the mean glucose concentration in the blood after 45 minutes.

(2 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(c)    Why was necessary to use more than one experimental animal in the experiment?
(1 mark)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(d)
Suggests factors that may have contributed to variation in the initial concentration of glucose.














(2 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(e)
Account for the differences in mean glucose concentration during the period.
(3 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(f)
What is the fate of excess glucose in human?





(3 marks)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________


(g)
Name the hormone that regulates the level of glucose in the blood of human.
(1 mark)

___________________________________________________________________________
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7.
Describe the methods by which plants get rid of their waste products.


(20 marks)
8.
(a)
What are the possible causes of incomplete fossil records?



(10 marks)

(b) Explain five milestones in the evolution of man that have made him the most 

dominant species on earth.







(10 marks)

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________
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_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________

_______________________________________________________________________________________
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